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Figure 3:  

 

𝐼௜௡ ൌ  𝐼௢௨௧ 

𝐼௜௡ ൌ  𝐼ଶ ൅  𝐼ସ 

𝐼௢௨௧ ൌ  𝐼ଵ  ൅  𝐼ଷ  ൅  𝐼ହ 

𝐼ଶ ൅  𝐼ସ ൅  𝐼ଵ ൅  𝐼ଷ ൅ 𝐼ହ ൌ 0 

െ𝐼ଶ ൌ  𝐼ସ ൅ 𝐼ଵ ൅  𝐼ଷ ൅ 𝐼ହ 

െ𝐼ଶ ൌ ሺ1.5 𝐴ሻ ൅ ሺെ3.6 𝐴ሻ ൅ ሺെ2.7 𝐴ሻ ൅ ሺെ4.3 𝐴ሻ 

𝐼ଶ ൌ 9.1 𝐴 

A  B 

C  F 

D  E 

𝐼ଶ ←  𝐼 → 

𝐼଻ ← 
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→
 

𝐼 ଷ
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→
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Level 1: 

 

Level 2:  

Figure 4: Lets label the nodes so that it’s easier to keep track of our calculations! 

 

 

 

 

 

 

 

 

 

 

Figure 2:  

 

𝐼௜௡ ൌ  െ𝐼௢௨௧ 

𝐼௜௡ ൌ  𝐼ଷ ൅  𝐼ସ ൅  𝐼ହ 

𝐼௢௨௧ ൌ  𝐼ଵ ൅  𝐼ଶ 

𝐼ଷ ൅  𝐼ସ ൅  𝐼ହ ൅𝐼ଵ ൅𝐼ଶ ൌ 0 

𝐼ଶ ൌ 𝐼ଷ ൅  𝐼ସ ൅  𝐼ହ ൅ 𝐼ଵ 

െ𝐼ଶ ൌ ሺ2.7 𝐴ሻ ൅ ሺ1.5 𝐴ሻ ൅ ሺ4.3 𝐴ሻ ൅ ሺെ3.6 𝐴ሻ 

𝐼ଶ ൌ െ4.9 𝐴 

Using  𝐼௜௡ െ  𝐼௢௨௧ ൌ 0, we find the 

current relationships at each node: 

Node A:   𝐼ଵ ൅  𝐼ଶ െ  𝐼ଷ ൌ 0 

Node B:   𝐼ସ െ  𝐼ଶ െ  𝐼 ൌ 0 

Node C:   𝐼଺ െ 𝐼ସ ൅  𝐼଻ ൌ 0 

Node D:   𝐼ଷ െ  𝐼ହ െ  𝐼ଵ ൌ 0 

Node E:   𝐼ଽ ൅  𝐼ହ െ  𝐼଺ ൌ 0 

Node F:   െ𝐼଻ ൅  𝐼 െ  𝐼ଽ ൌ 0 

𝐼 ଵ
→
 

𝐼ଵ ൅ 𝐼ଶ െ  𝐼ଷ ൌ 0 

𝐼ଵ ൌ െሺ0.8 𝐴ሻ ൅ ሺ1.2 𝐴ሻ 

𝐼ଵ ൌ  0.4 𝐴 

  𝐼ଷ െ 𝐼ହ െ 𝐼ଵ ൌ 0 

𝐼ହ ൌ ሺ1.2 𝐴ሻ െ ሺ0.4 𝐴ሻ 

𝐼ହ ൌ  0.8 𝐴 

𝐼ଽ ൅ 𝐼ହ െ 𝐼଺  ൌ 0 

𝐼଺ ൌ ሺ0.5 𝐴ሻ ൅ ሺ0.8 𝐴ሻ 

𝐼଺ ൌ  1.3 𝐴 

𝐼ସ െ  𝐼ଶ െ 𝐼 ൌ 0 

𝐼 ൌ ሺ1.7 𝐴ሻ െ ሺ0.8 𝐴ሻ 

𝐼 ൌ  0.9 𝐴 

െ𝐼଻ ൅  𝐼 െ 𝐼ଽ ൌ 0 

𝐼଻ ൌ ሺ0.9 𝐴ሻ െ ሺ0.5 𝐴ሻ 

𝐼଻ ൌ  0.4 𝐴 


